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MMotar Masses

The molar mass of a substance is the mass of one mole (6.02 x 1023 units) of the substance. The mass in
grams of one mole of"an element’s atoms is equal (o the numerical value of that element’s atomic weight.
These values for each element can be found on the periodic table.

To find the molar mass of a substance, multiply the number of moles of each element by the molar
mass ol the element. Then add the masses of the various elements.

Eovample 12 What is the molar mass of irontll]) oxide, Fe>03?

2molte = 25585y = 111.7 g Fe
3mol O = I 1600g = 48.00 ¢ O
Molar Mass of FeOu = (F11.7 g Fe + 48.00 g 0) = 159.7 g FeaOr

Excmple 20 What 1y the wolar masy of magnesinm hydroxide, MetOLH) ?
I mol Mg = 1 =2431g = 2431 g Mg
2mol O 22160,00g 32000
2molll = 2x1008g = 2016 H
Molar Mass of Mg(OI}, = (2431 g+ 32.00 g+ 2.016 g) = 159.7 g Mg(OH),

i

i

Determing (he molar mass of each substance.

Lo fluarine gas: ¥ 6. glucose; CyH -0,

7. calcium phosphate: Cax{(P(,),

]

. copper (11) chloride: Culy

3. aluminum oxide: Al»Os 8. ammonium sulfate: (NHy),SO,

4. potassium hydroxide: KO 9. malachite: Cu,CO3(OH),

Hhalum: KAKSO, )k 12H,0

[

csodium bicarbonate: NaHCO,
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